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Indian Olympiad Qualifier in Biology
HRATT Shafare 3ifefFaars FarfererR
(10QB) 2020 — 2021

Part Il Indian National Biology Olympiad (INBO)
19T 11; HRATT TSET ST aATel AT eaars

Answer Booklet / 3eei qf&cent

7" February, 2021 ROLL NO. —

Time: 2 hrs

e Please write your roll number on the top of every page of this answer booklet in the

space provided. /39T 3-1019hd-|ich $H Jso & I eed A Y §'E’ SFAH
forg.

e Before starting, please ensure that you have received a copy of the answer booklet

containing a total of 8 numbered sheets. /& FAH Tgel SH ST &I fEE HY of

foh St 3o qiEaeshT MUl e & 38 el 8 &Iiihd J56 &.
e This answer booklet must be returned to the invigilator./9II&T FATCT gl T

S8 3cck Gieder &1 fadieter 1 olfer &

(Do not write anything below this line / & tar = = % wa fow)

Not
X Y attempted

SECTION A 3X=-Y=

SECTION B 3X=

Total score =
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|IOQB — Part II ROLL NO. —
SECTION A
Q. Q.
No. b c d | No.| a b c
1. 16,
2 17 v
3. v 18, p
4. 9. 4
5 20. 7
6. v 21. y
£ v 22.
8. v 23 | 4
9. v 24,
10. 25. | 4
11. 55
12. v 27.
13. v 28,
14. 29, y
15. 0 y
Not
Y attempted
SECTION A IX—Y =
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SECTION B

CELL BIOLOGY / =hif3rert SAfereht (6 points)

31. (2 points)

32. (2 points)

33. (2 points)

o

Can be deduced / @A @mET <IT
AT 2

Cannot be deduced / sl | v
SUIRIS K]

PLANT SCIENCES / uteu f&@ (4 points)

34. (2 points)

QD
o
o
o

True /&€l | 4 V4

False / ed 4

35. (2 points)

»
o
o

o

True/ V4 V4

False / v 4
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ANIMAL SCIENCES / Stq f&&m (10 points)

36. (2 points)

Experimental conditions /

Temperature /

Effect

RN gl SIECIE) Options / fa=ea : All Males (ar=x) / All
(Og)tions é fashew . | Females (@t wmn) /Both males and females
28°C/30°C) (@t 7 3w wmar /Sterile females (aiter wmam)

Addition of aromatase 30°C All Males

inhibitor / 3mes 31aies &

T

37. (2 points)

a b. C.
v
38. (2 points)
a b. C.
v
39. (2 points)
a. d.
Can be concluded / = | s
fohrer ST EeRaT?
Cannot be concluded / ferd & v v
FepTeT ST Wbl
40. (2 points)
a b. C.
v
5
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GENETICS & EVOLUTION / A=ifTehY 3R 3fgerma (13.5 points)

41. (1.5 points)

42. (6.5 points)
(A)

Value of | for Datasetl/zcraec 1 & 1 e :
Value of | for Dataset 2 /2ecrd9e 2 & o 1 &1 aM ;

Value of | for Dataset4 /2 dc4 & el 1 1 HM ;

0.464

0.486

- 0.018 or -0.019

Calculations / worr:

Set 1: (41-15)/56 = 0.464
Set 2: (55-19)/74 = 0.486
Set 4: (26-27)/53 = -0.0188

(B)
a. b. C d e. f g.
True /@&t Vs v
False /mad | v v V4 V4
43. (4 points)
. _C_
. _d_
. _a_
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44. (1.5 points) Answer: 0.1

Calculations / Trorr:
81% show recessive phenotype
Hence,q=09andp=0.1

ECOLOGY / urftfRerferht (16.5 points)
45, (2 points)
a b.
v
46. (2 points)
a b.
47. (2 points)
a b.
v
48. (2.5 points)
C. e.
Can be deduced / 4
STIHT ST ST Hhall &
Cannot be deduced / s
SIAT TRl <HTET ST Eehll
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49. (2 points) Answer / 3t : 901

Calculations / mrr:
Secondary production = 20/100 x 300J = 60J
Respiration = 300 — (150 + 60) = 90J

50. (2 points)

a. b. C. d
True/wdt | V4 v
False / mrera 4
51. (2 points)
a b. C d
v
52. (2 points)
a b. C d
v

*khkkkkkkk END OF SECTION B *khkhhhkkkk
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